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���		��8����	 7��
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����	�8�����	�������4		�����4	�	��
�������
������	�������
���		���8������	�	�
�����

�		����<��4	�	
����	���	��
���7��	7��
	��
��
	�8��5;	�	�������		�������
6	?branch-and-
-bound) [1–3].	 ��	����5��	 �
	 ���74	 �

��5	 ��
�	 �
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����
��
	 �
�
��	 =�����
�	�����59
7@	��������7��	
�����
��	�����4��74��		roblemy NP-trudne zazwyczaj w bardzo
prosty i stosunko��	���
7��	�	���8	��
7�	��5		������

>��;	�
	����7�	��������>��	�������

74��	�8�����6	�
	�����		�����orach�	�
�
����	
������7����	7��
	�����
���	�������7	���
7�

��<��	�	������>���	<��������
��	���	��������� [13]�	�	�
�����		�����>
���	�������
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�B wspomnianej klasy problemów [4, 6–9, 11–12]. W niniejszym artykule ���
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sack Problem).
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Dany jest wektor:

OBJECTS = {(weighti, valuei)}i = 1..n   weighti, valuei ∈ N

oraz CAPACITY ∈ N. Zada����	7��
	��
��:;	���
�� P ze zbioru	A	�����4�
6	��	�����
l-
nych

P ∈ W = {(b1, … , bn), bi ∈ {0, 1}}

�	�>��
74��	�
>�9���
H

1

n

i i
i

weight b capacity
=

∗ ≤∑ (1)

1

max
n

i i
i

walue b
=

∗ →∑ (2)
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	 �	 	�������������	 ������

��	 �8����	 A�	 
	 =�8��5���@	 �
�
5	�7�	 �	 	���	
���
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W pracy [5D	
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��������	���
�����	
	7�������<���	�������	�����
��

�	���8		�����

��;	
�	������		�>4���6	�	�����
��	�
>����	7
�	�	������>���	<��������
��

���	���������	 ��>
�
74����	 ��5	 �	 8
����	 ��9�7	 ����8�	�
�����	 A	 ����
9
��
��	 
�
��
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�4	���5	������
>	�����		���	a����	�
���	���

���		���
��	8
�����7	�������
��7	
�
�����	

�9�	�	�����7��ym artykule.
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�4	������ó>���<��4	���
;		�
���7
���	��������
�7�	���������
���	<��������H

��
�	<��������
	�		������ & ��
�	����>�	��	I	���	��B�	����		�	7	
�	�8��
	�	�5�>��

<
�����
���	�������
�	��	7	
�	�8��
	�	�
��5���	������

9		 1 2{ , } Pp p E G P∈ ⇔ ∃ ⊂ ∧	���	��	∈	��	�����	�	��	
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����	������4�	����>��	�	�8��5�����	�	�������	��
������6��� ��J

���
	<������
��	��	������� � ��������
	8��	�5���	��	I	�Γ�	 �	� B�	�����H

! Γ	7�
�	����8�����	����	�5�>��H	 1,...,{ } ,i i KG =Γ ⊂
! 2 ,PΕ ⊂ Γ × 	 �����	 2 2( ),Γ ⊂ Ρ Γ 	 �������
�	 �	 7�
�

�8�����	�5�>��
"B
�

! 2: ( )f Ε → Ρ Γ 	7�
�	�������������	������	9�

1( ) {({ , }, ) :{ , } , }.i j i j i jf d G G p G G d p G p G− = = ∈ ∧ ∈

#��
	<������
��	�	�������	��	��	����	
������>��4	�����������75	��9����<��	����	

�>���	�����ikatów mi5dzy �5�>���	�8������������.	K��������	 ��	 7�
�	�9�����	�����	
���7	�����	��	��������	����7	�����	#	?���9
������7	�	���
����4	����������B, której doty-
czy. #��
	 <������
��	 ��	 �������	 ��
��>	 natomiast �����������	 �	 ����	 �����7
�����

�>�9���<��	 ���
���7	 ����������	�
����74���$	��9���o<��	����
�>����	�����������	��	

��5���	��
�����������	�������	?��
�	"B� Dodatkowo wprowadzone ��
��>� odwzorowanie
λ: E →	L	������
���74��	����
����	>4��4��	�5�>�: λ(γ, p) = p.

�	� 
� 	%�������	
�	�	�	
	���	����	
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	��	
�
���		���		��	
��������	���	����	��	�	
����	��	�	��	��

�	����������	���
����	��	���
���		���	����	��	�	
����	��	�	��	��	�������	����	��	���
�����	
���	�����

��		�
�	�	
����	λ	��	�	���

We wspomnianej pracy [5] przewidziano	��� �	�	 
�
	�!		����
a���	���������
	�	�

��
�	��	�owiska. Na po����"�	����������#	�	�
� �$	�������	
���	�	�����:

�	
��	∈	%B	∈ ℜ & ���	�8����������	������	�5�>�'

���%?%B	∈ ℜ & ���	�8����������	�����	�������	7���	
���	����	��
����������$

�5�>��(

)B L*?Γ&	�������	���	
	���
������	�����������
��	�������
	�	����
�	Γ�	M�
�������

���Γ�	�	N�	⊂ Γ �	O�O	�	�P�	 ����		O�O	!���	���"	����
��

#$
#$

#Q

#�
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#$

#Q

#�

�$
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��

��

λ

⇒

#Q

#�

�N#$�	#�P�	��� �N#��	#QP�	���

�N#$�	#QP�	���

�N#$�	#QP�	�$�
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L����������	��������	��	�$�������	������4��	��>���	�8����	�����4��6	����
�����	

���$	poprzez jego po����>	��	 ���>4����	����8����	 �	����$�������	���������	��
������6
��������	�����������	��	���$	����8�����$'	�	��
�5����	��	��8����	�<���	���
�����$	��	

�����	7���ego,	��7���
����	��������	?8�;	��9�	
��<���	�����	7��������	��8���$B(	L��	
���
	������4��	���������	�8��5; wyklucza podzbiory nie 
��>���74�e warunku (1). Konstru-
owane binarne drzewo decyzyjne jest wynikiem bijek�������	 �����
���>�����	 zbioru	A

(	��9��	7�go	�������	7�
�	��9
���	�	���>�����	7���4	<���9�4	��	��������	��	��<���( Rozpro-
szenie polega na wyselekcjonowaniu poddrzew ?�	������$	��
���������	
4	���������	���	

7�����	�������9����B	�	�����������	�8�����6	��	�����$	�5�>��	<������
��	
�����(

)�������	
�>���	
�5	�	��
�5��74���$	�>�����$ procedur:
( ����7������7�	������
�����	�	��8���	�������	����

( ��8���	�����	�8�����6'

( ������7�	����6������(

����
,�����	�
����
��

���
����
�
�����
	������
���


S�	 ���������������	 �8�����6	 ������	 7�
�	 <������
��	 ������
����	�	 ��
����	 ���*�

<������
��	++	�������	K1	����	���	��9��7	�����	%i	���*�	<������
��	+	�������	K2,i cha-
rakteryzuj4����	�5	����5	�T=����������@	�����	�	7�7	�8�58��.

+���7������7�	�8�����6	������	��	�����������	��>�<��	�8�����6	��	���������	�5�>�	��	

�����7	�����	(	��������	�����������	�I i GI	?������<��� pI ∈ GI).	A5��>	�I	������	��	


�5����	������	+T⊂ S1	�	������$�>��	%I	�������74��	���*	K1.	S�����	��������	7�
�	�������	
���	������4��	���*�	�
����(	,
������	
4	 ���9�	����	��������	85�4��	
��4	����	����

��$���4���$	�	
�>��	������ewa

( )

( ) ( )
i

T i G
G T

pow T T pow G
∈Γ

⊂ = ∑ (3)

A�8������	
4	�������	�����	���>��	
�$�����:
�BT ���	%+	7�
�	��	�+'

8BT ��������	7�
�	�8���	ST,T-%+.'

�BT ��
�5����	���	��9��7	�����	%7	∈ S	��8������	 7�
�	������$�>��	 
4
�����	%�	∉	S	��

���
�����	������	+(

W5��>	pi nale94��	��	����5���	>4��4��7	%j i Gi (pi = λ({Gj, Gi}, pi)) jest obierany lide-
rem grupy, a Gi dodawany jest do zbioru D (D = D ∪ {Gi}). Punkt c) jest powtarzany, gdy
D ≠ Γ(T).	/�	
����*���	���������	������'	9�	�����	�5�>�	���4	��>��;	���5	�������	��5��7

��9	 7����7	 �����	 (	 ���	 7�
�	 ��	 ���������	 
��������'	 ���9	 �8�����	 *����7�	 
4	 ��>�����

�
��>8��9���'	�������9��� od siebie2) .

*B A	���	���������	����*����7�	�����	�����<;	*����7�	���+	?0B	(	���	�8����������	�5�>�	���	

�����	 7�
�	 �����	��	 7����7	�����	 ?��7'	�	��7��5�
���	������7���'	 ��8	�������7	�	���������

�����<��B(



F�����
����	������4�	����>��	�	�8��5�����	�	�������	��
������6((( *-1

U�	������	 ����7������7�	�	����	��*��������	
4	���������	����	������<��	����<��74��

��������e	 ��
���<��	 ��������	 ����
�>����$	 ����4���	 ?$minB'	 7��	 �	 ��5���	 �������

?2minB	 ����	 ������
�����	 �8�����6(	/�8���	 ���	��	 ��	 ����	�
���������	 �����>�����ego,
zbytniego „rozdrobnienia” poddrzew �	���4������	�	���	���:������	������������	��	

������	����������7���	����5���	�5�>���(

U�
�5����	�������	7�
�	������������	�8�����6	��	��>�	<������
��, które odbywa 
�5
�	����$	*azach:
)( ������>	�����$	��5���	�������	����	(	�5��>	�+	������	������	��
������6	����5���

�������	��
����������$	����	�	 ����	 
��
�8'	�8�	��9��	�����	�������>�	���������

���������'	�������	������<;	VT,T*$	 ?�����	$	(	��
���<;	������B	�������	 8�;	 7��

��78��9
��	�
��>����������	���%?%�B	����9�74����	���	�8���������4	�����0B3

*( ������>	�����$	����4���	�����	(	�����	�����	���������	��	�+	������	������	����5���

�5�>�	
��7�7	�����	��	��
��	������������$	��	������>�	�����������	������	���
���	

��	����9�7(

L����
�������	��������	������>�	<������
��, wyboru lidera grupy ����	������>�	��	
���$	ma za za�����	���9��������	7��	��7���
����	�8����
������	�8��49����	��>���'	����	
������l���	������>���	
�
����	����	��������i�������	����8�	����
�>����$	�����������(
Opisany al������	��9��	
�5	��	
���������$	�����$���
'	�	�>��nym tego powodem jest do-
datkowa wie���	�������	�	������	���
�74���	<������
��	������
����(	S��	�����>���	��	

�����������	�	 C6D	�����4�����	������>�	��	
����
�����	��������	��	��>	�����������

���������	����5���	
��8��'	�	����7����	
4
����(	A	����������	��
�5����>�	
>�8�	������	

��9����	 ����>���	����n�7�����$	 =�8�����6@	����5���	�5�>�	������74��	�	���>�7	������

������4��7	<������
��(

����
�����
�����
��	��
��
�
�����	���
��



E��
�	����6������	�8�����6	pierwotnie �������������$	�5�>��	��������������	85�4

��	
��8��	8��dzo �����>�. Sytuacja taka spowodowana	 7�
�	 ��	��9�4	 ���<��4	�����$'	�����
��
���4	��
>���'	��9���o<��4	��
�4������	�8��5;	�	�������	��
������6'	 7��	 �	 ������9

��9�4	���4	 �8���������4	 ��
����������$	 7����
���(	A	 ���	 ����	 
���
��������	 ��
��>

���$�����	7��	��7���
����	��������9e���	�8��49����	?load-balancing).
A	 �����������	
������	
�5	���	������	�����4�����	����9
����	���8����	(	 ����7��7�

�����H

)B ����5'

*B 8����5	CJD(

L����
��	�	���$	������	��	��
����������$	8�����	�����������$	�����	�5��>	�	���	

���r���	�8��49�����'	�	����	���8����	
�5	��5<��	�����(	S�����	(	�������
����	przez auto-
ra – na poszuki�����	�����$	�����	7����
��5	8�������4(

A	�������������	����������	�������9����	�8��49����	dokonywane jest na dwóch
poziomach – we��4���	�����	����	����5���	�������(	W��	�
��������	����<���7	��
�5	

0B />�9���<;	�8����������	���������	���������������	�����	������	����
�	U	4	���?UB'	�����	U

7�
�	����84	����	�	<������
��	?��������	���	��
��>	�����
�������	�	�����7
��7	�����B(



*56 .�����	+�
������

��74	�����	���������	�����<��	����
�>���7	=�����	��	���������@	 ?���������	 7���	$min
oraz HminB'	����9�7	������$	�����>a�����	
��7�	
�5	�������	��5<��	���������	8����������
�5�>���	��
����	��
>����	����������(
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